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Circle the correct answer: 

 

1) What is the population of the Czech Republic (in millions)? 

 

a) 8.2   b) 9.4   c) 10.4   d) 8.4 

 

2) Which sight cannot be found in London? 

 

a) Tower Bridge    b) St. Paul´s cathedral  

c) St. Patrick´s Cathedral   d) Westminster Cathedral 

 

3) What is the main religion in Ireland? 

 

a) Protestant     b) Anglican   

c) Catholic     d) Puritan 

 

4) What is the capital of Ireland? 

 

a) Belfast   b) Dublin  c) Cork  d) Cardiff 

 

5) What is the capital of Scotland? 

 

a) Glasgow   b) Aberdeen  c) Edinburgh d) Belfast 

 

6) Lake District National Park is in: 

 

a) England   b) Scotland  c) Ireland  d) Northern Ireland 

 

 



 

 

 3 

   

7) Ben Nevis, the highest mountain in the UK is in: 

 

a) England   b) Scotland  c) Wales  d) Northern Ireland 

 

8) Which is not a borough (part) of New York City? 

 

a) Bronx  b) Brooklyn  c) Capitol Hill  d) Staten Island 

 

9) The oldest national park in the USA is: 

 

a) Yosemite N.P.    b) Yellowstone N.P.   

c) Niagara Falls    d) Sequoia N.P. 

 

10) The population of the USA is more than: 

 

a) 100 million b) 200 million c) 300 million d) 400 million 

 

11) Which is not a river in the USA? 

 

a) The Hudson  b) The Potomac c) The Mississippi  d) The Severn 

 

12) What is the capital of Canada? 

 

a) Toronto  b) Ottawa  c) Montreal   d) Vancouver 

 

13) Which is not a Canadian province? 

 

a) Victoria  b) British Columbia  c) Ontario  d) Alberta 
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14) What is the capital city of Australia? 

 

a) Sydney  b) Melbourne  c) Adelaide  d) Canberra 

 

15) The native inhabitants of  New Zealand are called: 

 

a) Aborigines b) Maori  c) Caribbean  d) Britons 

 

16) What is the capital city of New Zealand? 

 

a) Auckland  b) Canberra  c) Wellington  d) Calgary 

 

17) Everglades National Park is in: 

 

a) Texas  b) Arizona  c) California  d) Florida 

 

18) Which animal does not live in Australia? 

 

a) koala bear  b) kangaroo  c) kiwi  d) ostrich 

 

19) Which country is not a part of the Commonwealth of Nations: 

 

a) Ireland  b) Canada  c) Australia  d) New Zealand 

 

20) Which memorial cannot be found in Washington, D.C. 

 

a) Vietnam War Memorial  b) Washington Memorial 

c) Lincoln Memorial   d) Ground Zero Memorial 
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Key: 

1) c 

2) c 

3) c 

4) b 

5) c 

6) a 

7) b 

8) c 

9) b 

10) c 

11) d 

12) b 

13) a 

14) d 

15) b 

16) c 

17) d 

18) c 

19) a 

20) d 

 

 


